


e Fotofel.

Sh= A4 x, y9

=
=

Tt

m]

(x* +1)(y* +4) = 8xy




WA P+ 2x+1+y -4dy+4=0=

3.

Stofzt.

q_

x—l—y94 &=

D L
=%



4. OlAPYHA 22 5tk = 0 ] 20| f57} H ko] A H5te
Tatelat,

D
=%



Sl Apase] A

(m, n) 9] W42

—+-=1
m n

D 1 @ 2 ® 3

@ 4 ® 574 oA




6.

WA xy +2x = 3y + 102
o, B ©] 4t -otelzt.

Cf-
=R

a

=
=



7. OAYAHA % —ax+a+2 =09 F Zo] EF F57t = o=
BE 4% a0 hE 4 F L AL

@ a¥ -10 o] -2 o]s}o]t}.
@ a= -2 o4 6 olstoth.
® a6 oot

@ a+= 0 olsto|tt,

® a+= 0 o] 8 olato]tt.



TE A

= l|=

o0

ol M_o

e

==
L

o N

o

=

o

el

)

<

0@

=
w2 24, 34, 44 o Al FFolt.

BK
4
~
ol

iy
To°

e H 2 G 7] &

S

=
=

@ 10 @ 11 @ 12 ® 13

@9



9. U2 5AL TEA7|E 00] obd A A% (a,b) O] HGE?

_ 1
aJrB_a—i-b
ONM
@ 17}
3 270

@ Z47Fe] b(# 0) o thste] 1 A= Qe
® 717te] b(# 0) °fl ehskof 2 744 e,



10.  xof tigt o] A X2 - 2(a+2)x + 24> +6 = 0 2] F 0]
i, 7 a © Fh& F-ohH?

O -1 @ 3 ® -1, -3
@ 1,3 ® -3, 1



@ +b*+c* =12, a+b+c=4°l JHD uf, c o] G 254k
w2 a, b, c= AF)

— 27T

8 4
©-- @-; ©

ol s
®
w| oo



12.

x, y7F AL W A xy-x-2y-2=0

o A%g

D
=%

sholat,



13.

Pt (m-1)x+m+1=09F o] A7t HE=E Ao m o] ¢
& Totefet.

D
=%



ol
ol

Ll

B

=307} 0]

214, 154, 299 Al SRoltt. 2 Hj

sl

Tor

Tor

iy

]
™

@ 9 ® 10 11 ® 12

@ 8



2x—-y+z=a

©

x+2y+2z=3a-11 ------

—

3x—y+2z=2a-2

™I

O 2



